hﬂ(:hﬂ Series / cepus

ISO 6432

* Magnetic version as standard
* Special client’s version upon request

* Tandem and multi-position version
available upon request

Bores 8;10; 12; 16; 20; 25

LHuamembp

Working pressure Max 10 bar

PabomHo HansizaHe Max 1 MPa

Fluid 50 pm filtered, lubricated or non-lubricated air
PabomeH ¢pnyud 50 um cbunmpupaH, cyx, omacsieH usnu HeomMacsieH 8b30yx
Temperature range NBR: max +60°C

TemnepamypeH duanasoH VITON: max +110°C

Construction type
Tube | Stainless steel
Piston rod | Stainless steel

End-caps | Aluminium
Tun KoHCMpPYKuuUs
Tpvba | Hepwxdaema cmomaHa

Bymanex nppm | Hepwxdaema cmomaHa
Kanauyu | Anymuruti

Pneumatic cushioning Optional for bores 16, 20 and 25 mm
lMHeemamuyHo demnghepupaHe Onuus npu 16, 20 u 25

Magnet Standard for the whole range
MazHum e 6ymanomo CmaHOapmHo 3a usinama cepusi

PRODUCT NUMBER
NPOAYKTOB KOA4

MCM-16-200-D-P-V

. VITON seals
ge”es ——® VYanemueHus VITON
o—
epus
Bore Passing-through rod
LHuamembp ® —————® [IpoxodeH npbm
Stroke ° ° Pneumatic cushioning
Xoo lMHeemamuyHo OemnghepupaHe

ATEP

-
1)
Wy



12

M C M Series / cepusi

ISO 6432
P8~ P12 P16~ D25 c oM N Rixon N
PE H_"T T"—H ®cD
- 5 ) L Lf @/__r_
1\ L] H
IL L B A H1 H2 J
- K D
F+xoa
& @
o s o gl o
A_| H H o[ A
B D RA+XOA U+xoa B
FA+2*xoA
L+2*xon

%] A B C CD | D E F G H [H1 H2| J | K M N
8 12 | 12 | M4x0.7 | 4 4 /16,7 62 | M5x0.8 | 6 | 11 | 11 |12 | 15 4 | M12x1.25
10 | 12 | 12 | M4x0.7 | 4 4 (16,7 62 | M5x0.8 | 6 | 11 | 11 |12 | 15 4 | M12x1.25
12 | 17 | 16 | M6x1.0 | 6 5 119,772 | M5x0.8 | 6 | 11 11 | 17 [183| 12| 6 | M16x1.5
16 | 18 | 16 | M6x1.0 | 6 4 | 20 76,5 M5x08 | 5 |10 |10 |18 | - | 12| 6 | M16x1.5
20 | 20 @ 20 | M8x1.25 | 8 4 | 27 | 92 1/8" 8 /1515 20| - | 16| 8 | M22x1.5
25 | 22 | 22 | M10x1.25| 8 6 | 27 | 95 1/8" 75 15 15 20| - | 16 | 10 | M22x1.5
g | K1 R u RA | FA z
8 - 46 | 16 46 - -
10 - 46 | 16 | 46 = -
12 - 50 | 22 50 - -
16 | 20 | 54,5 22 55 99 | 131
20 | 27 | 68 | 24 68 | 116 | 156
25 | 27 | 67 | 28 67 | 123 167
MALTLP



M C M Series / cepus

ISO 6432

-
1)
Wy

Ne Accessories Page Ne Accessories Page
Akcecoapu Cmp. Akcecoapu Cmp.

1. | PHS Jointing ball 40 7. |[CCMC Rear hinge 43
Yxo cbe chepuyeH nazep LllapHupeH kpenex

2. | MFC Floating joint 40 8. |RCA+BGS| Sensor switch + holder 45
®@reKkco-KynnyHe Hamyuk + kpenex 3a damyuk

3. | FRC Fork 40 9. |RCS+BJ | Sensor switch + holder 46
Burnka Jamyuk + kpenex 3a dam4yuk

4. | PDMC | Angle bracket 43 10..RCA+BA | Sensor switch + holder 45
Onopa LHam4yuk + kpenex 3a dam4yuk

5. | FLMC Flange 43 11./\RCM+BM | Sensor switch + holder 46
®naHey LHam4yuk + kpenex 3a dam4yuk

6. | MGTB/U| Guiding unit 37
Hanpaenseaw, modyn



